Events / 0.1units

Data / Fit

35.9 b (13 TeV)

60000}

40000

(p*,e%)+ Zjlb
mr(W) > 50 GeV

¢ Data

[t channel

[t/ tw

BW/Z/y* |
+ jets

[JMultijet

[ Fit unc.

20000
OF
1.05F . ——— fitregion =
1—|—|—l—l—l?r0-r.-|—r‘-rQ-1—rrl‘l‘l?l_lTl_l_l_
095 .. . . o o L ]
-1 -0.5 0 0.5 1

BDT;.cn discriminant

Events / 0.1units

Data / Fit

60000 ¢ Data (1*, €%)+ 2j1b
| @t channel mr(W) > 50 GeV, BDTi.ch < 0 ]
[ Ot/ tw 1

40000 1 jets

20000

CMS 35.9 b (13 TeV)

CEEwWI/Zy

| CIMultijet
| [JFitunc.

fit region

BDTgw discriminant



